SOLAR SUPPORT SYSTEM IS NOT RATED FOR IMPACT.

SOLAR SUPPORT SYSTEM IS SECURED TO ROOF STRUCTURE (BY OTHERS)

QUICKMOUNT QBASE MOUNT & L-MOUNT SOLAR ROOF ATTACHMENTS

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2017 (6TH EDITION) /2020 (7TH EDITION) FLORIDA
BUILDING CODE NOT INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ).

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF'S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND ROOF SHEATHING.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE 2017/2020 FLORIDA BLDG. CODE & ADOPTED STANDARDS.

THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND WEATHER SEALING FOR

WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

MANUFACTURER’'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1703.5 OF FLORIDA BUILDING CODE. LABELING
TO COMPLY WITH SECTION 1703.5.

DESIGN LOADS SHOWN ARE BASED ON 'ALLOWABLE STRESS DESIGN (ASD).

Sealed: 10/16/2020 FL #29846

A~ CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND

INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

B~ THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF
ALTERED BY ANY MEANS.

C— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS (ATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

D~ THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

SR
(2]
wV |
(] 8
~N
Z
I
=
4 S R|Io
Or 23|k
2r Bi%
w0
<F 338
iR
Eooaoﬂf
O ¥ %l
Low % g
EoE «|n
B D o
8328
24
OEE® S
Qaog 4
it
E229«
qUSL @
Wwe o
EZ = 0
i =02 U
2282
Loz &
AN——
(=TT
ES %
~
2 7
& 3
T ~N
g S
= &
b N
x
& 2
5
e
R ey
]
2| 298
2 co 9
1 hor ~
=123 < §
SID 5P ~
=11Q < ;8
S22
QIX ™~ O |
|89 5
O llDo o 8
SOOI &
=]
N
[
Q
]
o
[ .
(8]
[2
[
o
>
O
”
cClio
Olo
0o
>
[O}Xe]
e
o
9
[+2]
o W
i |
e =
> el
. ES
N I
© © 5]
drawing no.

sheet 1 of 4




QUICKMOUNT  L—MOUNT ku
DIMENSIONAL DIMENSIONAL
LUMBER SUPPORT LUMBER SUPPORT > = ®
2o
Or 88
o g = %
ozy 8
o s
| ghy %
| = 2
ggar
! o4y
! OLE® S
C o og «
O %Lz 3
E22C
QU2 g
Lz og@
<428
Lins ¥
e %
» >
t ‘2 (;')
= 2
Q ~~
= ©
[ = e
L
=3 -
3 >0
sl DI
8| T&°
2 . —
Ll %<8
— = g L5 §
$2: SHEAR S1: SHEAR S~
LOAD DIRECTION LOAD DIRECTION S s
Q20 b2
] ) NI
CD\ QD\ I
UPLIFT i S
ROOF — OPTION Y OTHER 3 ROOF D - THERS &
ROOF STRUCTURE AND ROOF DECK NOT BY QUICKMOUNT - DECK ° AL (B H S)—?L <]>-- ECK OPTIONAL (BY_OTHERS) | §
MUST SUSTAIN LOADS IMPOSED BY SOLAR SUPPORT SYSTEM N
AND TRANSFER THEM TO THE BUILDING STRUCTURE. gg g% =
T X [0}
Fa \TYPICAL ANCHORS Fa \TYPICAL ANCHORS S|
Zs zZs gl
Sl Suw v 7 % o
Ay Sle
TYPICAL ANCHOR RV N SRIr J
TYPE ‘A'— 5/16" DIA. X 4" HEX HEAD LAG SCREW. (Fy=60 KSI) ° SHIN
INTO WOOD STRUCTURES &l 9
2-5/16" MIN, THREAD PENETRATION INTO WOOD ERINES "
RITICAL :RD'T e U MAXIMUM L—MOUNT SYSTEM WIND UPLIFT RESISTANCE = 1,437.5 LBS IEBIEiE
INTO WOOD STRUCTURE = 3/4" MIN. MAXIMUM L—MOUNT SYSTEM WIND SHEAR RESISTANCE S1 = 800 LBS Sealed: 10/16/2020 drawing no.
WOOD SUBSTRUCTURE SG = 0.45 MIN. MAXIMUM L—MOUNT SYSTEM WIND SHEAR RESISTANCE S2 = 1,025 LBS ' 20-79
FL #29846




DIMENSIONAL
LUMBER SUPPORT

/

S1: SHEAR S2: SHEAR
LOAD DIRECTION LOAD DIRECTION

ROOF STRUCTURE AND ROOF DECK NOT BY QUICKMOUNT
MUST SUSTAIN LOADS IMPOSED BY SOLAR SUPPORT SYSTEM
AND TRANSFER THEM TO THE BUILDING STRUCTURE.

TYPICAL ANCHOR

TYPE ‘A'— 5/16” DIA. X 3" HEX HEAD LAG SCREW. (Fy=60 KSI)
INTO WOOD STRUCTURES
1-13/16" MIN. THREAD PENETRATION INTO WOOD

Tl ISTANCE
INTO WOOD STRUCTURE = 3/4” MIN.

WOOD SUBSTRUCTURE SG = 0.45 MIN.

UPLIFT

AN

T ROOF DECK (BY OTHERS)Y

MIN. THREAD
EMBEDMENT, ;

— TYPICAL ANCHORS

MAXIMUM Q-—BASE SYSTEM WIND UPLIFT RESISTANCE = 1,212.5 LBS

MAXIMUM Q-BASE SYSTEM WIND SHEAR RESISTANCE S1 =
MAXIMUM Q-BASE SYSTEM WIND SHEAR RESISTANCE S2 =

687.5 LBS
950 LBS

QUICKMOUNT QBASE MOUNT

N
T QUICK W

{ ]

Sealed: 10/16/2020

FL #29846

ooooo
. £

o

f
C

(C.A.N. 3538)
SOLAR-SUPPORT\20-79 )

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

Fox: (510) 259-9747 L

28357 Industrial Blvd.
Hayward, CA. 94545
Phone: (800) 227-9523

QUICKMOUNT

J(QBASE MOUNT & L-MOUNT SOLAR ROOF ATTACHMENTS (N.1)|[ AL-FAROOQ CORPORATION a

by [ description

(revisions:
no| date

1'~0"

10-09-20

z
2
L)

ﬁ
=3
Q
12

dr. by: MLS

date:
chk. by:

f_——-.“““ﬁ
drawing no.

20-79




3.30
~.30
—
—2.00 —=
L FOOT
3.25 MIN.
12.00 MAX.
POST

QUICK W

QBASE

$.00

®

FLASHING

Y
R
L~MOUNT h c,}
(1] 8
ITEM # PART REQD. DESCRIPTION MATERIAL ‘
1 - AS REQD. | L—FOOT 6000 SERIES ALUM (Fy MIN. 35 KSI) > ~ ® §
[
2 - AS REQD. |9 " X 12" X 0.40" FLASHING 5000 SERIES ALUM (e} E ° $ o
|
3 - AS REQD. | 5/16" ID X 3/4” OD. WASHER EPDM BONDED $/S o ; 2 § ‘f
: o
4 - AS REQD. | 5/16" ¢ X 4” HEX HEAD LAG SCREW ZINC PLATED STEEL OR S/S é & 3 5l
3 (ol 8 o)
Cum 8 =©v
Lau 3%
QBASE MOUNT gor =&
b2
ITEM # PART REQD. DESCRIPTION MATERIAL 8 g 3 N
N - o
5 — AS REQD. | 1.25 @ POST (3.25” MIN — 12.0” MAX.) 6000 SERIES ALUM (Fy MIN. 16 KSI) oo E g o
6 - AS REQD. | QBASE 300 SERIES ALUM (Fy MIN. 23 KSI) (o) E Qg 1
7 - AS REQD. | 5/16"~18 X 3/4” CAP SCREW, H.H. GRADE 8 MAGNI COATED o] 35% %
8 - AS REQD. | 5/16" ID X 1-1/4" OD. WASHER EPDM BONDED SS % E % b %
9 - AS REQD. | 5/16"—18 X 1" CAP SCREW H.H. S/S L& %‘ g E—-g
§ = R
10 - AS REQD. |5/16” ¢ X 3" HEX HEAD LAG SCREW ZINC PLATED STEEL OR S/S - g(tg <
€ Sos &
A —
e
ES 3
o
= i
2 2
X
= )
= 5
b .
x
& B
<
A 3 0
= O §
> — <
= 2o E
[ .
“lz8 < ¥
3 8 o © 5
= o -
Z|S-¢8
QIX N~ o
QW =z o
BIDR 38
S|lO«Ta
=y
=
oy
o
S
(o}
—
O
(2]
[
pe}
>
LO
y
(0]
S5
2o
>
g
N
oll ©
(? A
g,
| [1e] 1
el 52|,
e =
.. b Fe)
= o o
AR E:
< 2] © (3]
drawing no.
Sealed: 10/16/2020 20-79

FL #29846

sheet 4 of 4




